‘::h‘ C.]'IO)KeHI/Ie, BbIYUTAHUC, YMHOXCHUC U JCIICHUC NCCATHUYHBIX ﬂp06€ﬁ Nwms:

Pemure kaxayr 3axauy.

D 6 x6,028 =

2) 9875:7,9=

3) 85+ 63,872 =

49 22+1,282=

5 1,8x9=

6) 89,66 + 38,3 =

7 19-12,454 =

8) 43,9 -4,033 =

9 39x7=

10) 922 - 48,56 =

1) 3,066 : 0,3 =

12) 940,5:0,55 =

OTBeThI

10.

11.

12.
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ﬂh C.]'IO}KCHI/IG, BbIYUTAHUC, YMHOXCHUC U JCIICHUC NCCATHUYHBIX ,up06eﬁ Nwms: K104 k npaBuJIbHBIM 0TBeTaM

Pemure kaxayr 3axauy.

D) 6x6,028= 36,168

2) 9875:7,9= 1250,

3) 85+ 63,872 = 148,872

49 22+1,282= 23282

5 18x9= 1672

6) 89,66+ 38,3= 127,96

7 19-12,454= 6,546

8) 43,9-4,033= 39,867

9 3,9x7= 273

10) 922 -48,56 = 43,64

1) 3,066:03=_ 1022

12) 940,5:0,55= 1710,

OTBeTHL
1. 36,168
.. 1250,
;. 148,872
. 23,282
5. 16,2
. 127,96
7. 6,546
8. 39,867
0. 27,3
0. 43,64
10,22
2. 1710,
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